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Estimating Multiplication w/Decimals Name:
Use the decimal placement to estimate the product. Answers
3951 x21=
A. 829710 B. 8.2971 C. 829.7100 .0.0830 1.
9.32x9.1= 2
A.0.848 . 8,481.200 C. 848.120 . 84.812
3.
04x419= 4
A.1.676 .0.017 C. 167.600 .16.760 '
5.
3.88 x 2.916 =
A. 1,131.40800 . 113.14080 C. 11.31408 .0.11314 6.
1.86%x 9.7 = £
A. 180.420 .18.042 C. 1,804.200 .0.180
8.
0.953 x 6.52 = 9
A. 62.13560 . 6.21356 C. 0.06214 . 621.35600 '
10.
0.187x49=
A.9.1630 . 0.0092 C. 91.6300 .0.9163 11.
0.475 % 6.62 = 12.
A. 314.45000 .0.03145 C. 31.44500 . 3.14450
492 x0.165=
A. 8.11800 .0.00812 C. 0.81180 . 81.18000
8.5x%0.837 =
A. 711.4500 .0.0711 C. 71.1450 . 7.1145
241 x 2272 =
A. 547.55200 .0.05476 C. 54.75520 . 5.47552
0.437x94 =
A.4.1078 .0.0411 C. 41.0780 .410.7800
Math 1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
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Estimating Multiplication w/Decimals Name Answer Key
Use the decimal placement to estimate the product. Answers
3951 x21=
A. 829710 B. 8.2971 C. 829.7100 .0.0830 1. B
9.32x9.1= 2. D
A.0.848 . 8,481.200 C. 848.120 . 84.812 A
3.
0.4x4.19= s C
A.1.676 .0.017 C. 167.600 .16.760
5. B
3.88 x 2.916 =
A. 1,131.40800 . 113.14080 C. 11.31408 .0.11314 6. B
18697 = . D
A. 180.420 .18.042 C. 1,804.200 .0.180
s. D
0.953 x 6.52 = 9 C
A. 62.13560 . 6.21356 C. 0.06214 . 621.35600 o
0. D
0.187x49=
A.9.1630 .0.0092 C. 91.6300 .0.9163 n D
0.475 % 6.62 = 2 A
A. 314.45000 .0.03145 C. 31.44500 . 3.14450
492 x0.165=
A. 8.11800 .0.00812 C. 0.81180 . 81.18000
8.5x%0.837 =
A. 711.4500 .0.0711 C. 71.1450 . 7.1145
241 x 2272 =
A. 547.55200 .0.05476 C. 54.75520 . 5.47552
0.437x94 =
A.4.1078 .0.0411 C. 41.0780 .410.7800
Math 1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
www.CommonCoreSheets.com Bnbt7 11-12| 8 | O
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